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{

"result": {

"corpFinancialYears": [

"title": "20200 0 ",
"value": "2020"

7

{
"title": "20190 0",
"value": "2019"

7

{
"title": "20180 0",
"value": "2018"

7

{

"title": "20170 O ",
"value": "2017"

1

{
"title": "20160 O ",
"value": "2016"

1

{
"title": "20150 O ",
"value": "2015"

1

{
"title": "20140 O ",
"value": "2014"

1

{
"title": "20130 0O ",
"value": "2013"

1

{
"title": "20120 O ",
"value": "2012"

1

{

"title": "20110 0",
"value": "2011"
}

’corpBalanceSheet": [

]

"tax payable": "919.260 ",
"It deferred expense": "679.70 ",



"total current assets": "12.220 ",
"total_assets": "24.90 ",
"pre payment": "1133.360 ",
"bill payable": "3333.090 "
"total current liab": "2. 4D "
"total liab": "240124261. 7600"
"showYear": "20180 0 0"
"inventory": "2781.950
"total quity atsopc": "22.4400"
"intangible assets": "7677. 99D "
"shares": "4.160"
"othr_payables" "5278.18D
"undstrbtd profit": "-3.480 "
"othr noncurrent assets": o
"payroll payable": "832. 82D "
"dt assets": "1940 "
"construction in process
"total liab and holders equ1ty“ "24.90",
"invest property": "4148.730 "
"fixed asset": "1.740"
"interest payable": "149 50",
"account_receivable": "1.550 ",
"currency funds": "2.480 ",
"dividend payable": ""
"pre receivable": “2481 320",
"total noncurrent assets": "12.670 ",
"othr current assets": "3.20 ",
"earned surplus": "1960.30 ",
"total noncurrent liab": "14.520 ",
"bills receivable": "2400 ",
"othr receivables": "2846.020 ",
"capital reserve": "19.760 ",
"total holders equity": "22.50"

It

"tax payable": "643.130 ",

"It deferred expense": "630.550 ",
"total current assets": "12.90"
"total assets": "25.570 "

"pre payment“ “1.090"

"bill payable": "3939. 28D !
"total current liab": "2. 76D "
"total liab": "296228229. 8200"
"showYear": "20180 0"
"inventory": "3283. 28D !

"total quity atsopc": "22 610"
"intangible assets": "7945. 24D "
"shares": "6.240"
"othr_payables": "7387.31D
"undstrbtd profit": "-3.240 "
"othr noncurrent assets": o
"payroll payable": "670. 34D "
"dt assets": "150.490 ",
"construction in _process":
"total liab and holders equ1ty“ "25.570™"
"invest property" "4089.310"

"fixed asset": "1.720"

"interest payable": ""
account_recelvable" "1.880 ",
"currency funds": "2.690 ",

”d1v1dend _payable": ""

"pre receivable": “1770 390",

"total noncurrent assets": “12 670",
"othr current assets": "3.190"

"earned surplus": "1960.30 ",

"total noncurrent liab": "2007 640",
"bills receivable": "240 ",

"othr receivables": "2298.440 ",
"capital reserve": "17.640 ",

"total holders equity": "22.610"



},

"tax payable": "402.150 ",

"It deferred expense": "583.070 "
"total current assets": "12.220"
"total assets": "25.40 "

"pre payment“ “1. 37D !

"bill payable": ""

"total current hab" "2.630"
"total liab": "282500249. 1400"
"showYear": "20180 00"
"inventory": "4210.440"

"total quity atsopc": "22 580"
"intangible assets": "7383. 19D "
"shares": "6.240"

"othr payables": "”

"undstrbtd profit": n -3.070"
"othr noncurrent assets": m
"payroll payable": "567. 88D "
"dt assets": "158.050 ",
"construction in _process":
"total liab and holders equ1ty“ "25.40"
"invest property" "4029.90"

"fixed asset": "1.690 "

"interest payable": ""
account_recelvable" "1.970",
"currency funds": "1.470",

”d1v1dend _payable": ""

"pre receivable": “1654 260",

"total noncurrent assets": “13 180",
"othr current assets": "3.420"
"earned surplus": "1960.30 ",

"total noncurrent liab": "1959 480"
"bills receivable": "261.850 ",

"othr receivables": ""

"capital reserve": “17 640",

"total holders equity": "22.580"

7
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"tax payable": "1286.780 ",

"It deferred expense": "335.230 ",
"total current assets": "12.60 ",
"total assets": "25.220 ",

"pre payment": "1200.170 ",

"bill payable": "4956.830 ",

"total current liab": "3.240 ",

"total liab": "335425193.8600",
"showYear": "20180 0O ",
"inventory": "4337.160 ",

"total quity atsopc": "21.870",
"intangible assets": "4882.640 ",
"shares": "6.240 ",

"othr payables": "4948.470 ",
"undstrbtd profit": "-2.980 ",

"othr noncurrent assets": "467.580 ",
"payroll payable": "1196.630 ",
"dt assets": "257.990 ",
"construction in _process":
”total_hab_and_holders_equlty": "25.220"
"invest property": "4355.070 ",

"fixed asset": "1.720 ",
"interest_payable": "7.080 ",

"account receivable": "3.220 ",
"currency funds": "1.780"

”d1v1dend _payable": ""

"pre receivable": “2359 30,

"total noncurrent assets": “12 620",
"othr current assets": "2.250"

"earned surplus": "1960.30 ",

"total noncurrent liab": "111 7.6D



}

]
L,

"bills receivable": "729.850 ",
"othr receivables": "3003.280 ",
"capital reserve": "17.670",
"total holders equity": "21.860 "

"reason": "success",
" n
error code": 0

}
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